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«° Proceed as follows

a} Measure the thickness, W, of the half metre rule using the vernier calipers provided
T 0 g VI 1mk

b} Set up the apparatus as shown in the figure 1 below such that D= 2p = 20cm and g =20cm
Ensure that D is kept constant throughout the experiment

{Use a piece of cellotape to fix the threads). Ensure also that the loops of thread on half metre
rule are made such that the can slide along the rule. This will enahkf the adjustments of p later in the

é’xr}mnnenr ),
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Mote that distance pis m{?aw{a@; from the centre of the half metre rule

\
¢) Adjust the position (@ese loops on the half metre so that p = 21em.{ie 2p = 42} You
may use a piece gfello tape to keep the foop in position
$H
Measure and igeord in the tabie 1 the valueof g
<
N.B g is thé@erti”cal distance between the half metre rule and the metre rule
o |
d) SEE[_.,Q{ﬂ'!y displace one end of the hall metre rule towards you and the other away from you
i (%?fm;'imntal plane and release so that it oscillates in the horizontal plane. Measure and
@record in the table 1 the time t for 10 oscillations

&°
§&Q’ e) Repeat the procedure in (¢} and (d} for other values of p shown in table 1
((0\ Complete the table Tmks
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- i} Plot the graph of T against ;{ _ SMKs
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i) ~ Determine the slope s of the graph when Q/P =2.0 Imke
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dreg = 1{):1\"[52

BB : [Zimks)
“h) Determine the constant k given where L= 0.5 : 72imks




00
&
R
KQ
©
Q
R
)
<
et
; Q
Question 2 ¢
i1 5 a4 \\
You are provided with i:hr—@owéng
Y
i o
A rectangular glass otk
> . . 6
Four optical ;"116@,\
A piece ocf}:o?t board
Q’O’
A ;)Clé@ sheet of paper
&&U fape
&°
e You are recuired to have your complels mathematical set
Q

Proceed as follows

a} Place the plain sheet of paper on the coft board and fix it using the cello tape or thumb
tucks provided. Place the glass block at the centre of the sheet, and draw its outline.

Remove the glass block { see ligure 2)
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b} Draw a normal at a pog

t 2 e from the end of one of the fonger side of the hlodk

outhned. This nongal line will be used for the tast of this experiment. Draw a line al an

ngle B=25 m&ﬁ}]w normal. stick two pins py and y on this line

¢} By viewing lirough the glass from the « ppasite side stick two other ping py and p,
vertica I;ég%uh that they are indine with-inases-of the first two pins. Uraw a line through
the n\aq s made by p; and py to touch the outline. Txtend the line PL and P through the
rwg@me (datled),
Cé@heasum and record the perpendicular distance belween the extended line pipd
e Asshown above
Record this value in table 2

d} Repeat the procedure above and fill in the tahle helow
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Lh Plotagraph of d (y axis) against €
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i} Using the graph Q> timate the value of d when (-0 2inks
X
N
=
Q}

2 b)You age ﬁ'uridcd with the folloswing set of apparatus
& ] -
& A Nichrome wire mounted on a millimeter scale
‘L—@ o O connecting wires, 2 with crocodife clips

2 e Apammeler
AN
0% = A voltmeter
@ e A coll holder
. ¥ s Twodry cells
«° s Amicro meler serew gauge

Proceed as lollows:

a) (1) Connect the civcuit as shown. The Tength of the wire ST used to complete the
cirewnt should be exactly 1 metre
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(1) Close the switch and tecord the qurreni | and the potential difference Voacross the

wire ST, open the switch
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{1ii) i)u?lt_‘l'i!{?’di’..‘ the resistance Ry given that Ry - i Lk
<
{iv) F\-’ILQ%IH'(‘- the diameter. d, of the ST uging a micrometer serew gauge
~ ALY
Q’O’
%
& L
o d= .. .mm (1 mk)}
<
@Q (v Determine the quantity e, of the material of the wire from the relationship Ry _pf}—
@0\ : A
((0& Where A is the cross - sectional area of the wire (Imks)



